MPM1DO0 Unit 2: Homework Quiz 5

1.

2.

Give one example of each of the following: ( 5-/5)
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(a) Expression

Victim: 9% z/rr&/b,dw
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(b) Equation that is Solved for the Unknown

21
=-3.

(c) Equation that Expresses a Mathematical Relationship

(d) Identity

A=mrs+r?

alx+y) =ax+ oly

(e) A Value that Satisfies the Equation x* =10000

x=l00 o x=-100 _~

The perimeter of a rectangle is 280 m. If the length of the rectangle is triple its width, find the dimensions

of the rectangle. ( 9 /9)

(a) Construct an algebraic model by using the phrase
“the length of the rectangle is triple its width.”

Quantity | Representation | Explanation
Width W b/f he width is Unina,
e le 14 1S "(7‘1 le
Length 7‘ P
: 3w v e wadth,

(b) Translate the following sentence into an
equation. Do not solve the equation yet! You
will do that in part (c).

“The perimeter of a rectangle is 280 m.”

w+3w +wt+ 3w = RE0D
Y v

(c) Solve the equation.
wHI3w+w + 3w = REO

S Bw =230
S Bw o
B
c w=35

230
e-alivd

(d) State a conclusion.

The width s 35 m
ond- +he length s 3(35)=/p5 p,

Mr. Nolfi rewarded four of his students by giving them gummi bears (a type of candy). He decided to
divide the gummi bears among the students in the following way:

e The first student was given 100 gummi bears more than % of the total number of gummi bears.

e The second student was given 200 gummi bears more than % of the total number of gummi bears.

e The third student was given 300 gummi bears more than % of the total number of gummi bears.

e The fourth student was given 600 gummi bears more than % of the total number of gummi bears.

How many gummi bears were there altogether? Write your solution on the next page. ( 7 /7)



Let 9 represent the total number of

ﬁuW\m\ bears T%e y)

* Shudent 1 rece ved ’j;!zﬁ'HUO 3uvnm;r bears,
. chwdeit & receiuedl Ii;@ +=00 Gumm; bears
. studeit 3 veened —é“j + 300 5wwm; bears
. shdeqt 4 receivel \’-3 +4oD Sumrn|’ bears

Psst guys!
Once Nolfi and Brian are gone,
you should give all the gummi
bears to me. | know you want
to because I’'m so nice and you
guys are such fine gentlemen!

Nudge nudge, wink wink. ;-)
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an orderly manner.
", =l +[3A00-1900= O~ 14200 d

Anyone who defies my
~19 = -[9200

3 = /9200 /
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